Vyukové centrum Hlusice

|1

5
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PONDELI

7,50-8,35

11,40-12,25

12,25-12,45

12,45-13,30

13,40-14,25

14,35-15,20

ZSV 1

EKP 1

2.AA ELT 1 OPD 1 SMV 1 SMV 2 OPD 2 OPD 3 VOLNO ]
3.ABN__ [IKT 1 KT 2 SMV 1 OPD 1 OPD 2 MAT 1 SMV 2 EKP 1
1MZA__ |iD1 TD 2 ZSV 1 FYZ 1 CJ1 ST1 ST 2 VOLNO
2.MZB___ |SMV 1 SMV 2 ELT 1 757 1 7522 ELT 2 RMV DJ 1 RMVDJ2 |
3MZA__ |ZSZ 1 757 2 SMV 1
1DLT _ |OCJ T CJ1 V1 ANGJ 1 ANGJ 2 =)
1.DZT __ |OoCJ 1 CJ1 LV1 ANGJ 1 ANGJ 2
1.7P CJ1 LV 1 TP 1 TP 2 VOLNO
2.DT J 1 TV 1 TV 2 = DPR 1 DPR 2 VOLNO
2.D0ZT  |CJ1 TV TV 2 VOLNO
2.7P CJ1 TP 1 TV 1 TV 2 P P VOLNO
| | |
7,50-8,35__|8,45-9,30 11,40-12,25 |12,0512.45 |12,45-13,30 _ |13,40-14,25 _ ]14,35-15,20
LV1 2] KT 1 IKT 2
OPD 5 OPD 6 |
3.ABN OPD 3 OPD 4 SMV 3 SMV 4 DIAGCV 2 DIAGCV 3
ST 3 ZPV 2
ELT 3 SMV 3 SMV 4
3MzZA__ |Z5Z3 757 4 SMV 3 SMV 4 KT 1 KT 2 V1 VOLNO
1.DLT LTVR1 |LTVR2 TRD 1 =] TRD 2 TRD 3 [VOLNO
1.DZT TZZS 1 TZZS 2 VOLNO
1.7P P P = TP AP AP VOLNO
2.0T TRD 1 TRD 2 TRD 3 = VOLNO
2.D0ZT DZT 1 DZT 2 DZT 3 T7ZS 1 TZZS 2 VOLNO
2.7P APINF 1__|APINF 2 TP 2 TP 3 [ & [TzPv1i |1zPV2 VOLNO VOLNO
STREDA |7,508,35 |8,45-9,30 _ |9,45-10,30 10,40-11,25 _ |11,40-12,25 |12.2512.45 |12,45-13,30 _ |13,40-14,25 _ |14,35-15,20
1ABN __ |SMV 1 SMV 2 ZSV 1 TD 1 TD 2 =) TV 2 TV 3 VOLNO
2.AA SMV 3 SMV 4
TV 2 MAT 2 RMV JP 1 RMV JP 2
TMZA __ |IKT 1 KT 2 ANGJ 2 VOLNO
2.MZB___|ANGJ 1  [ANGJ 2 MAT 1 MAT 2 EKP 1 VOLNO
vz AFEC 2 ANGJ 1 ANGJ 2 RMV LP 1 RMV LP 2
1.DLT MAT 1 MAT 2 CJ2 ANGJ 3 ANGJ 4 [E] KT 1 KT 2 VOLNO
1.DZT MAT 1 MAT 2 CJ2 ANGJ 3 ANGJ 4 IKT 1 IKT 2 VOLNO
1.7P MAT 1 MAT 2 CJ2 KT 1 KT 2 VOLNO
2.DT V1 ANGJ 1 ANGJ 2 cJ2 MAT 1 2 MAT 2 LV2 VOLNO
2.0ZT __ |LV1 ANGJ 1 ANGJ 2 CJ2 MAT 1 MAT 2 LV2 VOLNO
2.7P V1 ANGJ 1 ANGJ 2 CJ2 MAT 1 MAT 2 V2 VOLNO
CTVRIEK|7,508,35 |8,45-9,30 _ |9,45-10,30 10,40-11,25 _ |11,40-12,25 |12.2512.45 |12,45-13,30 _ |13,40-14,25 _ |14,35-15,20
1ABN __ |SMV 3 SMV 4 TD 3 =]

FYZ 2 ANGJ 3 7S7 2
ANGJ 4 ZzV 1 77V 2 VOLNO
ANGJ 3 ANGJ 4 TV1 TV?2 VOLNO
1DLT MAT 3 MAT 4 CJ3 TV1 TV 2 5] LV 2 EKP 1 EKP 2
1.DZT MAT 3 MAT 4 CJ3 TV 1 TV 2 LV 2 EKP 1 EKP 2
1.TP MAT 3 MAT 4 CJ3 TV 1 TV 2 LV 2 EKP 1 EKP 2
2.DT EKP 1 EKP 2 SEM MAT 1 [&] SEM MAT 2 VOLNO
2.DZT EKP 1 EKP 2 SEM ANGJ 1 SEM ANGJ 1 VOLNO
2.TP TZPV 3 TZPV 4 EKP 1 EKP 2 SEM ANGJ 1 SEM ANGJ 1 AP AP
PATEK  |7,50-8,35 [8,45-9,30  |9,45-10,30 10,40-11,25 11,40-12,25 J12,25-1245 |12,45-13,30  |13,40-14,25 |14,35-15,20
1.ABN ELT1 ELT 2 ZSV 2 LV 2 =]
2.AA ELT 2 ELT 3 IKT 1 IKT 2 EKP 2
3.ABN LV1 LV 2 ZSV 2 RMV JP 3 RMV JP 4
1.MZA TV 2 TV3 ELT 1 ELT 2 LV 2
2.MZB KT 1 IKT 2 EKP 2 TV 1 TV 2
3.MZA EKP 1 EKP 2 RMV LP 3 RMV LP 4
1DLT UP1VR [UP2VR UP VR UP 4 VR UP 4 VR ]
1.DZT UP 1 UP 2 UP 3 UP 4 UP 5
1TP P P P b 4 =
2.DT UP 1 UP 2 UP 3 UP 4 UP 5 =
2.DZT UP 1 UP 2 UP 3 UP 4 UP 5
2.TP UP 1 UP 2 UP 3 UP 4 UP 5




